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Numbering system aal) 4okl

642 is 600 +40 +2

6x102= 6 x100 =600
+4x1010 = 4x10 =40
+2x10%= 2x1 =2 =642 in base 10




Numbering system aal) 4okl

642 = 6,*102 + 4,107 + 2, *100




Numbering system a=ll dalail

Dy 2Uail 134 8 Laddisal joa )l dcgena ™
ballall 8 Laddiuwall joa)ll ae gag callaill ulul =

ﬂbz{'dovdladza"':db-l }

x=+(x x .%X),

X = izﬂ: xb'
=0



decimal system (sl oUail

Dy 2Uail 134 8 Laddisal joa )l dcgena ™
ballall 8 Laddiuwall joa)ll ae gag callaill ulul =

301 |9 | 2 |« .l
10° 10° 10" 10° « o
1000 100 10 1

Fl

(3192)10 = 2*%10° + 9%10" + 1*10* + 3*10°

==y



decimal system (s _nal) alLaill

LgﬂSJJQ

10° [ 10" | 10° [ 107 | 10 | 107

(315.07)0

3 1 5 0 7 |«
10° 10' 10” 10" 107 <« ol
100 10 1 0.1 0.01

(315.07)10 = 3*10% + 1*¥10" + 5%10° + 0*10" + 7*107



111100100001100010010011111000011101010010110011010000100010110000011010001110100110110111
011001000001010000101010110000101001100100100110000111000001000101011011011111011111010111
110011100001110111110122110001001010100100010010000010110001001000101010010011011001100100
gooliooo0lioliiollooooloooo0lolool1n2iiolonl1l1loololioloolliionolilliolooinliliicoliiliooolollo
011101000101010100000100000100000100010110100011101001110100111000011101010111110111111101
11111031111110111101110211011111001110111011011111171001011001111011111010100101001010111111
1100011010001110100110112011101100110001120111110001001010100100010010101121111000021010001110
100110110111011001100011011011110011111010011100101101001110001111101001011101100100111010
g1i1¢oo01001000101111101010111100110100011101001101101110110010000011210001101101110110011011
101110011111101100010110100011101001110100111000011101010113110111111101111110111111011110
111011101111100111011101101111111001011001111011111100011110011110011110011011111111000110
100011101001101101110110010001010000011210001101101110110011101011011001100001110111011001
111111011000101100101120111010001010000011011001100001110111011001111111011000101100101110
111010001010000011010011100100111101100010110011011000011100011110010111000101101111110111
111010111000101111101010111100110100011001011100001110010011111010101111001110100110100111
101001101100110010111111010101111100101110110011000111101111110110111001011000001110100110
1111100000100011011000011100011110010112000101101211110111121010112000011000001111130010000
gip001101100001110001111001011100010110111111011121101011111100101111111010011010011110100
1101100110010111111010101111001101101110010111101001100001100000110100011101001210100112100
001011011100101111000111101011101001111011011110110001010000111101111110111011101001100101
1101110111010010110111101000111001111000011001011000101000001L10001111011111101110111010011
o01011101110111010011110110001011101001100101111100011101001011111101000111010011011011101
1o00111011100000110001121010001100001111001012100121100101112010011110112101011110100110011
gioliolliiocoloo0lolooQonliolliiililiiioloiniinziodllonrioilioonlolillolonliioonolicononlilioloonil
101001110100111000010110111001011110001111010111010011110110111101100010100001111011111101
110111010011001011101110111010010110111011001100001110111011001111110101110000111001111100
10110001010000011000112101111131011101110100112001011101110111010011110110001011001011101110
100010100000101111211112010101131100110110121100101111010011000011000001101000111010011101001
110000101101110010111100011110101110100111101101111011000101011000101101101010110000011011
011000011110111111011011110000110000111101001101001110001011011001100101100010100000110001
111011111101110111010011001011101110111010011110110001010010011000101111101100010111011011
110101110110011000011110100110010110010011000101110111100010100000101111111110101011110011
1001111000111110010110100111100001110100200000111010011110011121000011001011111011000101110
io00110010111110001110100101211131101010110000211101123012000012121200111100011211001011010011120
000111010010001011111010101011111011111111001000011011011100001110001001000001101010010000
011011011101010100011001101110101110111011000111110100110100111011111101110101000110100011
100101100101110011010100110000011110111000001110110110000111100101000001110101111001011010
0110111111110010110010110000011110110000010111110111101010001111111110101010001111131111010
101101110111101110101011100101111111111100011101110110101110100111101010100111111110100011




Binary system (~uill alaill

.b=2w‘l.u‘>”| .
polll - Dp={0,1} Lersiadl jall dngana ®

(110101),




Binary system (~uill alaill

d *B™ +d_,*B"2 + .+ d *Bo

1011bin =1*23 + 0*22 +1*21 + 1*2{)
1011y =(1*8)* (0% 4) *(1*2)* (1 1)

1011, = 8+0+2+1="114,




Binary system ALl alaill

101010112 7

1x27
+ (0 x 2°
+ 1 x 25
+ 0 x 24
+1x 23
+ (0 x 22
+ 1 x 21
+ 1 x 2°

1x128 =128
Ox64 =0
1x32 =32
O0x16 =0
1x8 =8
Ox4 =0
1x2 =2
1x1 =1

=171 (decimal)
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(1111), = 1%2% + 1%¥2% 4 1%2! 4 1%2°
=8+4+2+1

=(15)1 .
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(61.5625),0 = (11101.1001),

(61)10=(111101), (0.5625),0 = (0.1001),

1 61 +2=30 1 I 0.5625%2=1.1250
0 30 +2=15 0 0.1250%2=0.2500
1 15 +2=7 0 0.2500%2=0.5000
1 7 +2=3 1 0.5000%2=1.0000
1 3 =2=1
1 1 =2=0



(reall) AU sl L8 dbual) cillaall

(0); + (0); = (0);
0+ (1), =(1);
(1) + (0)2=(1)

) (1:+(1)2=(0)

a0,

(111101), + (1110101), = ( )
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(7 ) S Uil 8 Gl cilleal

(0)2— (0)2 = (0),
(1)2~ (1), = (0),
(1)2~(0)2 = (1),

) (0),- (1), =(1),

(10); - (1) = (1)2'

(1110); = (101), =( )zl
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(w2 pall) U el 8 dbual) cilleall

(0)2 * (0)2 = (0)
(0), * (1)2 = (0)2
(1)2* (0)2= (0)
(12 * (I2=01)




octal system Slaill alaill
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CDs={0,1,2,3,4,5,6,7 } ierdindl jpe)ll dcgana ®
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;_)A.'I.l‘..u.u...l.p.:LA‘ 'I_'\.EA__,I ‘A..I(LJ.LA:JH {_:..n) GJJS”I G!Aa—ﬂ.“ ;._}_-;.l'l alal JS..\.G..“
g -2 5 Sl e IV AT -1 e BlAN A8 Tapd (5l



octal system Slaill alaill

(207.51)5

2 0 7 | 5 1 PEP TN
8° 8’ 8" 8" 872 <o)
64 8 1 0.125 0.015625

(207.51)g = 2%8% + 0*8' + 7*%8° 4+ 5*8"' 4+ 1*8
=128 + 0 + 7 +0.625+ 0.015625
= (135.640625)0
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Octal - binary

Binary-octal

(1101101.11101), = X5

(57.127)s = X>

001 101 101.111 OI0 5 71 ) 7
1 S 5.7 2 101 111 . 001 010 111
(ITOT101.11101), =(155.72)5 (57.127)s=(101111001010111),

Al Ul v ) sl Wl Al o Ly



] Gl alail .8 sl
Binary-octal "’J:Bﬁas"iu
(1101101.11101), = Xs 33?
oty 010
001 101 101.111 010 011
1 5 5.7 2 100
101
(1101101.11101), = (155.72)5 110

111




(A Al 8 sl
. 3-Bit pladiuly

Octal - binary —
001

(57.127) = X5 010
—— 011
5 7 .1 2 7 100
101 111 . 001 010 111 101

110
(57.127)g=(101111001010111), 111







hexadecimal e Cull aUaill

O
(0
@
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D
=

Hexadecimal | Bimary

0000
0001
0010
0011
0100
0101
0110
0111
1000
1001
1010
1011
1100
1101
1110
1111

Base 16

4 bits

ONJAUNWEWN=Q

o
N = O

13
14
15

MTHZAEP OOk WNFO
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s pdie ) Al ) (g el Uil pe sl

(5039)]0 = (lFC E66);6

(508)10
12 l 508 +16=31
15 31 +16=1

1 +16=0

(0.9)10

4| 09%16:144
6 04*16=6.4
6 04+16=64




w‘wew\gg\ ngup M\etbﬂ\mdw;ﬂ\
(A6E.3);6
(A6E.3)s = A*16% + 6%16' + E¥16° + 3*16"

=2560+96 + 14 + 0.1875
= (2670.1875h0



(100101110 . 11011), = X5 (5D. 2A)16 =X
0001 00101110 . 1101 1000 = D . 2 A
1 5 E D 8 0101 1101 . 0010 1010

(100101110 . 11011)> = (12E . D8)sc (5D. 2A)16 = (01011101.00101010),






Hexa - octal

(2DA.ES8) ¢ = (1332.72)g

) aldas penaall ol $mSH 5 3al

S s Cull Jadll — 2 D A E 8
I 0010 1101 | 1010|1110 | 1000

Sl il 1011011010 11101
1 001 | 011|011 [ 010 | 111 | 010
Sl — | 1 [ 3] 3 | 2 | 7 | 2




octal-Hexa

(715.43)3 = (1CD.8C);6

A} f.\_ll.ni e al! 2 all q;_).uS.“ & yall
Gl il — |7 1 5 4 3
3 111 | 001 | 101 | 100 | 011
l 0001 | 1100 | 1101 | 1000 | 1100
(S e Sl ‘-.\Ll':ﬂ'l —> 1 C D 8 C
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|0,255] n=8
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(30)10 — (110010),




_ 50) 0 — (110010),
+(50)10 — 1{1,0(0
&
500 s S [-27, 277" 1]
+(0)10—> | 0O 0{00
sdla¥l aciall > | 1 1{1]1
S adiall 5 1 O 0,0(0




Binary Number 1°s complement 2’s complement
1010 0101 0110
0101 1010 1011
1001 0110 0111
0001 1110 1111

+637? -63°

il lilide lapma e 2° =256 (i agkins 250 U 8 3
[=128,127] Jladl pasz ads Jael) by ¢ SN adiall 43yl
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(0.375)10

(0.375)10= (0.011),

+0.375)0—> | O 0 1 1 0 0 0 0
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+(26.8125)10

(26)10 = (11010), (0.8125)10 = (0.11001),

0 0011010 [11001000

T —
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+(26.8125),0

+(26.8125)10 =
L._g.J\A"}“ (.ASAL—)

‘_531_'\311 ?ASAI_)

0011010 | 11001000

1100101 § 00110111

1100101 § 00111000




(9051),0 = (1001 00000101 0001)scp
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EBCDIC e il s

S cuadl 0o 4-Bit
(1100 ] 1101 | 1110 ) STAR
A | J 0001
B S i
c | L | T | 11100010 | 11100011 | 11000001 | 11011001
I D | M | U S T A R
1
| F | O
S
1 R Z 1001
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o Toi00 oo T oo o] & o 4Bt
0 p p 0000
e, a | g 0001
2 | B | R b r 0010
3 | c| s c | s 0011 |
4 | b | 7T d t 0100
s el ol s al oo
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a ! 1100
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formation Interchage

& 24256

Sl 3a) [ ASCIN oy JEH
A 01000001
~a | 01100001
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01010011 | 01010100 | 01000001 | 01010010
S T A R

—

0101Lv21 /01110100 | 01100001 [ 01110010
S t a r













There are only 10 types

of people in the world:
Those who understand binary
and those who don't.
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dahiall Gl gall 5 J 50 e
Y
)

- Y=A+B

OR

Y=A+B

_""_111

B

— = o

o O =
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NOT Y=A
Al Y=A
0 1
1 0
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A+B

o ¥ =
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